

習題 1.1

- 1 (1) 1階常微分方程式 (2) 2階偏微分方程式 (3) 1階偏微分方程式
 (4) 3階常微分方程式 (5) 2階常微分方程式 (6) 4階偏微分方程式

2 (1) $y = c \cos x \therefore y' = -c \sin x$. For $\frac{y'}{y} = \frac{-c \sin x}{c \cos x} = -\tan x \therefore y' + y \tan x = 0$.
 $1 = y(0) = c \cdot \cos 0 = c \therefore c = 1 \therefore y = \cos x$

(2) $\sin y = x - 1 + c e^{-x}$ or $\sin y = x - 1 + c e^{-x}$. $y' \cos y = 1 - c e^{-x}$ for.
 $\sin y = x - 1 + c e^{-x} \therefore y' \cos y + \sin y = x \therefore y' + \tan y = \frac{x}{\cos y}$.
 $x = 0 \text{ or } y = \frac{\pi}{6} \text{ or } \frac{5\pi}{6}$. $\sin \frac{\pi}{6} = 0 - 1 + c \therefore c = 1 + \frac{1}{2} = \frac{3}{2} \therefore \sin y = x - 1 + \frac{3}{2} e^{-x}$

(3) $\frac{dx}{dt} = -\frac{2c(t-1)}{(t-1)^4} = -\frac{2c}{(t-1)^3}$, $\frac{dy}{dt} = \frac{2ct(t-1)^2 - (t^2 \cdot 2(t-1))}{(t-1)^4}$
 $= \frac{2ct(t-1) - 2ct^2}{(t-1)^3} = \frac{2ct^2 - 2ct - 2ct^2}{(t-1)^3} = \frac{-2ct}{(t-1)^3}$

$\therefore y' = \frac{dy}{dx} = \frac{-2ct}{(t-1)^3} \cdot \left(-\frac{(t-1)^3}{2c}\right) = t \therefore x(y'^2 - (y')^2) = xt^2 - t^2 = t^2(x-1)$
 $\frac{t^2}{t} \cdot \frac{c}{(t-1)^2} = y \therefore y = x(y'^2 - (y')^2)$

$x = 1 + \frac{c}{(t-1)^2}$

$x = 0 \text{ or } y = 0 \text{ or } \frac{\pi}{2}$. $\therefore x = 1 + \frac{c}{(t-1)^2} \therefore c = -(t-1)^2$

$\therefore y = \frac{t^2}{(t-1)^2} (-(t-1)^2) = -t^2$. $y = 0 \text{ or } \frac{\pi}{2}$ $t = 0 \therefore c = -1$. for.

$\begin{cases} x = 1 - \frac{1}{(t-1)^2} \\ y = \frac{-t^2}{(t-1)^2} \end{cases}$

(4) $y = c_1 e^x + c_2 e^{-x}$. $y' = c_1 e^x - c_2 e^{-x}$. $y'' = c_1 e^x + c_2 e^{-x} = y \therefore y'' - y = 0$

$y(0) = c_1 + c_2 = 0$, $y(1) = c_1 e + c_2 e^{-1} = 1 \therefore c_2 = -c_1 \therefore \frac{c_1 e^2 - c_1}{e} = 1$

$$c_1 = \frac{e}{e^2-1} \quad \therefore c_2 = -\frac{e}{e^2-1} \quad \therefore y = \frac{e}{e^2-1} (e^{2x} - e^{-x})$$

$$\boxed{3} \quad (1) \quad cy = x + \frac{c^2}{2} \quad \therefore cy' = 1 \quad \therefore c = \frac{1}{y'} \quad \therefore \frac{y}{y'} = x + \frac{1}{2(y')^2}$$

$$\therefore \underline{2yy' = 2x(y')^2 + 1}$$

$$(2) \quad \tan(x+c) = \frac{y}{x} \quad \therefore x+c = \tan^{-1} \frac{y}{x} \quad \text{Diferensial}$$

$$1 = \frac{1}{1 + \left(\frac{y}{x}\right)^2} \cdot \frac{y'x - y}{x^2} = \frac{xy' - y}{x^2 + y^2} \quad \therefore \underline{xy' - y = x^2 + y^2}$$

$$(3) \quad y = x^c \quad \therefore \log y = c \log x \quad \therefore c = \frac{\log y}{\log x} \quad \text{Diferensial}$$

$$y = \frac{\frac{1}{y} \cdot y' \log x - (\log y) \frac{1}{x}}{(\log x)^2} \quad \therefore \frac{y'}{y} \log x = \frac{\log y}{x} \quad \therefore \underline{y' \cdot x \log x = y \log y}$$

$$(4) \quad y = c_1 e^x + c_2 x e^{2x}$$

$$y' = c_1 e^x + c_2 e^{2x} + 2c_2 x e^{2x}$$

$$\therefore y' - y = c_2 e^{2x} + c_2 x e^{2x} \quad \therefore c_2(1+x) = e^{-2x}(y' - y) \quad \dots \textcircled{1}$$

Diferensial

$$c_2 = -2e^{-2x}(y' - y) + e^{-2x}(y'' - y') = e^{-2x}(-2y' + 2y + y'' - y') = e^{-2x}(y'' - 3y' + 2y)$$

Diferensial

$$(1+x)e^{-2x}(y'' - 3y' + 2y) = e^{-2x}(y' - y) \quad \therefore y'' - 3y' + 2y + xy'' - 3xy' + 2xy - y' + y = 0$$

$$\therefore \underline{(1+x)y'' - (3x+4)y' + (2x+3)y = 0}$$

$$(5) \quad y = \frac{1}{c_1 x + c_2} + 1 \quad \therefore y - 1 = \frac{1}{c_1 x + c_2} \quad \therefore y' = -\frac{c_1}{(c_1 x + c_2)^2} = -c_1 (y-1)^2$$

$$\therefore \frac{y'}{(y-1)^2} = -c_1 \quad \text{Diferensial}$$

$$\frac{y''(y-y')^2 - y'(y-y')^2}{(y-y')^4} = 0 \quad \therefore y''(y-y')^2 - 2(y')^2(y-y') = 0$$

$$\therefore \underline{y''(y-y')^2 - 2(y')^2 = 0}$$

$$(4) \quad c_1 x^2 + c_2 y^2 = 1 \quad \therefore 2c_1 x + 2c_2 y \cdot y' = 0 \quad \dots (1)$$

$$\therefore 2c_1 + 2c_2 \{ (y')^2 + y \cdot y'' \} = 0 \quad \dots (2)$$

$$(2) \times x: 2c_1 x + 2c_2 \{ x(y')^2 + x y \cdot y'' \} = 0 \quad \dots (2')$$

$$(2') - (1): 2c_2 \{ x(y')^2 + x y \cdot y'' \} - 2c_2 y y' = 0 \quad \therefore \underline{x(y')^2 + x y y'' = y y'}$$